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Ql. (a) Differentiate between Newtonian and Non-Newtonian fluid with, igu kgab e e@i' ) [1]
(b) Briefly explain why the viscosity of a liquid decreases while that oﬁ a gﬁsﬂnerease with a
temperature rise. ‘é%; iy, ﬁ)fgy 1]

(¢) Differentiate between U tube manometer and Inverte%gl/U tE %%@eter At what conditions
these two manometers are utilized? 4 %g

b [1]
(d) Find the pressure inside a water droplet havmg diameter of 0.5 mm at 20° C if the outside
pressure is 1.03N/em 2 and the surface tension of water at that temperature is 0.0736 N/m. 2]
(¢) What is the absolute pressure in the sga at%g} aﬁgf* 10 m? Assume the density of seawater is
constant at 1025 kg/m? and that atmo »‘«z@ sure 1s 101325 Pa, [2]
Q2. A U tube manometer contalmr;;\ me,,réug"ﬂ has its right limb open to atmosphere. The left limb is
connected to a pipe cont;aagmg%\%%ter under pressure, the centre of which is in level with the
free surface of merc %%?*@Ih?’«manometnc fluid and water meet in the left Tlimb. Find the
pressure of wateg?h Ipe above atmosphere, if the difference of leve] of mercury in the two
limbs is %(%%? e %,% [4]
" %\ ‘§§
Q3 A hydrauhc hft consists of a 50 ecm diameter ram and slides in a
cylmder of dIameter 50.015 cm while the annular space is being filled
up thh oil having kinematic viscosity of 0.025 ¢m?s and specific
gravity of 0.85 (shown in Figure). If the rate of travel of the ram is
9.15m/min find the frictional resistance when 3.85 m of ram is

engaged in the cylinder. (4]




